L2(29).2 (mod 7)
blocks | defect matrix blocks | defect matrix
G: 1 1 5% 2 2.G: 18 0 2815 = X184+, P12+
2 1 5% 2 19 0 2816 = X20,05 ¥14,0
3 1 7x1 20 0 2817 = X20,1, P14,1
4 0 281 = X4,0,P4,0 21 0 2818 = X21,0, ¥15,0
5 0 282 = X4,1,P4,1 22 0 2819 = X21,1, P15,1
6 0 283 = X5,0, ¥5,0 23 0 2820 = X22,0, 16,0
7 0 284 = X5,1,¥5,1 24 0 2821 = X22,1, ¥16,1
8 0 285 = X6,0, 6,0 25 0 2822 = X23,0, £17,0
9 0 286 = X6,1> 6,1 26 0 2823 = X231, P17.1
10 0 287 = X7,0,%¥7,0 27 0 2824 = X24,0, 18,0
11 0 288 = x7,1, 7,1 28 0 2825 = X24,1, 18,1
12 0 289 = X8,0, ¥8,0 29 0 2826 = X25,0, 19,0
13 0 2810 = X8,1, ¥8,1 30 0 2827 = X25,1, 19,1
14 0 2811 = X9,05 ¥9,0 31 0 2828 = X26,0, 20,0
15 0 2812 = X9,1, ¥9,1 32 0 2829 = X26,1, ¥20,1
16 0 2813 = X10,0, 10,0 33 1 7x1
17 0 2814 = X10,1, ¥10,1 34 1 7x1
BlOCk 1: 901,0 @1171
Ii =x10 1 .
292 = X111 ) 1 w10 = 11
300 = v 1o 1 1 o111 = 29
2 X12,0
304 = x13,0 1 1
306 = X14,0 1 1
Block 2: P11 @1170
Ia =x11 1 .
291 = X110 . 1 prio= L
30x = v10 1 1 Y110 = 29
3 = X12,1
305 = x13,1 1 1
307 = x14.1 1 1




Block 3: | ooyt
301 = X2+ 1
30s = Xx15,0 1
309 = x15,1 1
3010 = X16,0 1
3011 = X161 1
3012 = X170 1
3013 = x17,1 1
Block 33: ©21,0
3014 = X27,0 1
3016 = Xx28,0 1
3018 = X290 1
3020 = X30,0 1
3022 = Xx31,0 1
3024 = X32,0 1
3026 = Xx33,0 1
Block 34: | 21,1
3015 = X27,1 1
3017 = X281 1
3019 = X29,1 1
3021 = X30,1 1
3023 = X31,1 1
3025 = x32,1 1
3027 = X331 1

¥21,0

309



